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7.3 ZWMAE
mﬁ&ﬁ CANEAE AH (x; ) (=0,1,2,...,m) IR — P AET
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< (Z xi)ao T (Z xf)al T (Z xf)az = Z XY
(3 )y + (3 2 )a, + (X xf)a, =3 x2y,
M REIN TR

i x| v v xS K] xT | xS
0315115 9] 45 | 27 31
1l s 2110]25] 50 | 125 | 625
ol 6] 1] 6 36| 36| 216 | 1296
| 81216 |64] 128 512 | 4096
. 10| 4 | 40 [100] 400 | 1000 | 10000
> |32 14| 87 |234] 659 | 1880 | 16098
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ERFEmy |5a,+32a,+234a, =14

32a, +234a, +1880a, =97

1234a,+1880a, +16098 a, = 659

R H—& S BAE EZER T EH, Fa,=13. 454,

a1:_3. 657, aZZO. 2720

/NP ZHMAN:
y=p,(x)=13.454-3.657x+ 0.272x"
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Ny = > —=a+—
ax+b vy X
é\Y:l,X:l—H/:awa
% X
Xy =a+bx’
SX =x">y=a+bX
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BB A, Iny=Ina+bx
Y=lmhy A=lna=Y = A4+ bx

J Xi Yi Y; X7 x;Y;

0 1 15.3 2.7279 2.7279
1 2 20.5 3.0204 6.0408
2 3 27.4 3.3105 9.9315
3 4 36.6 3.6000 16 14.4000
4 5 49.1 3.8939 25 19.4695
5 6 65.6 4.1836 36 25.1016
6 7 87.8 4.4751 49 31.3257
7 8 117.6 4.7673 64 38.1384
> 36 29.9787 204 147.1354

R
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36 204 )\ b ) (147.1354

R TR M 4=2. 4368, b=0. 2912

HA=1na, BB a=e1=11. 436 9
Frll, K ARAN: y=11. 43690 2912
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§ 7.7 EXZWMAR

AR 2 A LB R ERmERBER (1xx,....xn} B2
HHE MR EFEERBNIERZMAR. A IE BRI,
ERZMARBERTHEEEERAR. THNAERZHAR.
7.7.1 IERZ AR

ENT3 EERER {90} k=0,...m.FEF— MR o, (x)EE
[a,p] LESEBANMEANE, WRFEL

o =0 (i # j)
(0, (x) 0 ,(x))= £¢i(x)¢j(x)dx{> 0 (i= ) (7.13)
MFREEBR { 0.(x)} AXIE Lab] ERIERRER.

B, HH R p(x)=0, Hf
b 0 . .
(0,00, (x)) = jp(x)qoi(x)qoj(x)dx{ C# D )

>0 (i= /)
1 D> D] &%




WFRLEREH R (o)} £=0,....,m,9X[A] [a,b] EXRTHEE
P IEAZ R A

B11 =ARER: 1, cosx, sinx, cos2x, sin2x, ...;2X[a [-
T, 71'] __EI/J_L_.KEZ'%Q/\’ /‘j‘j

7Z'

sin kx sin jxdx = 0, (j = k)

- 7T

cos kx cos jxdx =0, (j# k)

- T

sin kx cos jxdx =0,

sin kx = jcos kx =0,

- 7T

nzkx:jcoszkx=ﬂ>0,

b b, X w2 AT B M (Fourier)iBiT A2 R 2L
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772 ERZWAR
MBEXRBRAZHAR {P(x)} i=0,....m, NWFHRZANIEZ
ZWMAR, B {: 0 (e

(P P,(0))= [ pCOPCIP (s 7

WH IS TR R RX 8] [a,b] LR TR p()KI IER ZHAR.
ERRERXZHARE:

1.VJEEE R(Ueobnmer) Z AR {Ty(x)} 2x =cosd, N
T (x)=cos n0, ‘7] LH U\-FJE?E/\—QE}&

T,(x)=1, T,(x)=x

T (x)=2xT)(x)-T}1(x)s k21 (7.16)
”‘az-“t[-1,1]5@?*2Mfcp(x)=1/(1-x)zm‘é Bl

I # ]

(7.15)

1

(1, T, ()= [ = T ()T () dx %

-1
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B RET7AN 2 0 T &
T,(x)=1

T,(x)=x

T5(x)=2x2-1

T5(x)=4x3-3x
T,(x)=8x4-8x*+1
T5(x)=16x3-20x3+5x
T(x)=32x0-48x4+18x2-1

2.5k (Legendre) Z MR {Py(x)}
P, (x)= ——2 (x> -1),

2" x n! dx”

BWRATHM T EEAKXEH:
Py(x)=1, Pi(x)=x
P (x)=[2k+1)/(k+1)] x P, (x)-|k/(k+1)] P,1(x)s k=1  (7.17)
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BE [-1,1] ERTFHEHp(x)=11IEAZ, B}

1 (=0 (i#J)
(P.(x), P,(x))= [ P(x)P,(x)dx{ _ 1 L (717)
! J ! = (i=17)
. 2n+1
‘BRIET7 R R
P,(x)=1
P,(x)=x

P,(x)=(3x2-1)/2

P;(x)=(5x3-3x)/2
P,(x)=(35x*-30x2+3)/8
Ps(x)=(63x3-70x3+15x)/8

Py (x)=(231x5-315x4+105x2-5)/16

3.0 /R(Laguerre) Z AR {L(x)}
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X dk n —X
L (x)=e ok (x e ),
BWATHW FEH#EAREH: Lix)=1, L(x)=1-x
L. (x)=2n+1-x)L,(x)-n%L, (x), k=1 (7.18)

BHEND, +o] ERTREH ()=~ EX, B
(AEWHENE jeu,.m,.(x)dx{‘ ; (i % J)

: =(nl)" (=)
BRIET7 W T
Ly(x)=1
L(x)=1-x
L,(x)=2-4x+x?
L;(x)=6-18x+9x2-x3
L ,(x)=24-96x+72x2%-16x3+x4
L:(x)=120-600x+600x2-200x3+25x4-x>
L(x)=720-4320x+5400x2-2400x3+450x4-36x5+x5
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4. BIRKEF (Hermite) ZIAR {H,(x) )
» d*

Hy (0= (D' e” Se,
BRI FEEARE H
H,(x)=1, H,(x)=2x
H,.,(x)=2xH,(x)-2kH, ,(x), k=1 (7.19)

'BAE (oo, +o0) EXRTFHEE (x)=e~*1EZ, B]

(H,(0), H,(x))= [ H,(x)H (x)dx ComxmE (= )

—00
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'EREI 7AW R R:

Hy(x)=1,

H;(x)=8x3-12x
H (x)=16x*-48x2+12
H(x)=32x5-160x3+120x
H (x)=64x%-480x4+720x2-120

ERZMAIEHF —E

L B

H,(x)=2x, H,(x)=4x2-2
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7.5 BAE—BUEIT Z TR
7.5.1 L5 PE IR VG 25 /]

E N 7.1 ELER EXF TP x5 i — N E R, 3N
xHITEEL X R T EXAR AR ERERE,E  yeX, NFK

Ix-yl 9 E R xSy IR E.
57 ZER3H A —xeR3E X0

. 2 2 2

Hx - J/H = \/(x1 - Y1)2 +(x, — J/2)2 + (x5 — y3)2
WEIRZ A= )L BR8], 52 — R R YE 2 ).
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B8 FEZELE R 2 18] Cla,b] -

|/, = max |/ (x

xela,b]

)

W Ca,b] A 2P W75 2= [6].
BEMcCla,b], MECla,b] i — AT 23 A,

FHo(x) € MER

1B TR EL ¥ feCla,b),

|f - eoll, = max |/ (x)- o)

xela,b]

ABD,  TFRo(x)AMH
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752 AE—BUBIEZ TR

EXT.2 fix) e Cla,b], If I ,BEE X, M NI nIK )2 T
AHEE M, ERZCla,b|HFZNE,FERP, (x) € M, f#

|/ (x)=P, (0|, =max |f(x)-P,(x)

xela,b]

RED,  NFRP, (x) M, F R, ) B nik B 4E—BUE I 2 T

CAF e BARIE 1 B —BUBIL 2 T\ U7 E ME— 1.
%%Ilﬁgﬁf(x) € Cla,b],M, ATk K2 T KL &,

Pn*(x) e M 15

f=F| =inf I/ -2l =min |7 - 2.
PneMn PHEMH
= min max |/ (x)—P,(x)
P eM, xe€la,b]

XA B B HIE B U B R 20, A5 A BE.

44 3 B> i |




7.5.3 BAE—BUE T £ T K RFE
R B AE—BUE T 2 TR IME 71,58 78 & FIRHE.
Set5 w2 e &

gﬁ%@ﬁﬂxﬁﬂp@)” 22 B A0 Bt 0 R B, WUFE [a,b] L AF
X0

| f(x0) = p(x,)]= max F(x)=p(x)|=|r-p|.
XX P ()X fx) E’Jﬁ%)’—"'

755 P (xo)-f(x0)>0,$ﬁ\'xﬂil ERE R
25 p(x0)f1x) <0, x N TR ZE K
VIt R 2 H T s —BUE T 2 T HIRFIE 2 3.
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EFHT2 P(x) e M, P,(x) AEEE

BUBILZ AR R EKR

P,(x)fE[a,b] L2 /DE 2N W E LBl

A< Xg<X; < .o <X, <X, < b fFE

P (x,)—f(x;)=(-
o N18k-1.

XA B B A FAER.

SEFRT2ULEHP,(x) - - fix) Z/DEn 2N B BB S AR
KIREBEI- P, |, FHAEEEAN [a,b] LIRES AR LB E].

RgE—BEEEZ AL T
SR LR LR DL T BISRAE.
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